THSEE BEERFEREIL>ONRFOAEORK

R Wizs Bk £HEONE wE | wa | I

wER (18) MR b BGE BERIUFER BTEAREOY—RARVI—YD%E 2| # 186,780
HIFRE (HF)R—ZFvo T [EEEAERAN (HRARERBEESY REM. HEMAKER-THEFEXERR 1 = 5,874
wER (HI)R—RFro T BEERAEER |PEENIAILE DER TRUSNLHBEERTY 1l = 37,455
HIFRE (HF)R—ZFvo T EERUAEERMN SNV EEERTIR (THILTTNILEER) 1 = 60,833
BABRER (R EEDRESHRFERF | BEEUBEMN |MMLYM—/—DEA 1,536 1@ 135,360
EHLER (B EEDREHAREEM | BERLBER [MLYMM—/—DEA 5| @& 20,400
BULER (B EHEODREH KRR | BERULBER [MLYM—/—DFEA 12| @& 48,960
EHLER (B EEDREHARIEERN | BERILBER [MLYMM—/—DEA 5| @& 21,600
BuLER (B EHEODREHLRFERN | BERULBER [MLYM—/—DFEA 5 & 21,600
BHLER (B EEDOREHAREEM | BERILBER [MLYMM—/—DEA 5| @& 21,600
fEHER (#8) MR hRiE BEERIUFEM | TVTHRE 1l = 70,785
BEOWYR (B MAUrEE EERUFER |FEIOFIMLRTIFUERERSEERATVIELTGAS) 10| & 4,400
BEROVYR (8 M whBE BERIUFERN |FRIOT VLRIV IFUEAERSSERATYIELF6AS) 20( & 8,800
BEOWYR (B MAYrEE EERUFER |FEIOFIMLRTIFUERERSEERATYIELTTAS) 10| & 4,400
BHETORECLELE |((REHOREHHRERRN | BEERUBEM |MLYMM—/I—DEA 960| 1@ 62,400
BHTOREILELE |((REHOSEBRREERN | BEERIULEBER |/ 2528| 1@ 115,804
INEAL SR (B EHEODREHLRFERN | BERULBER [MLYM—/—DFEA 2| % 9,600
BREHBR (B EEOREHRFEIEERN | BERLBER [HE2H 6| r—2R 16,200
LERBR (#8) MR hRiE BEERILFER |BRATYIOBLTS 12| B 395,670
HEBER (B EEDREHRFEIERN | BERULBEFR DROBA 1l = 36,000
SHIAAER (B EHEOREHLRFERN | BERULBER [MLYM—/—DFEA 8| #—R| 41,600
HEFE (B EEOREHHRIEERN | BERILBER [MLYMM—/—DEA 2| % 9,600
HEFE (B EHEODREH KRR | BERULBER [MLYM—/—DFEA 3| & 14,400
HEFE (B EEDREHAREEM | BERILBER [MLYMM—/—DEA 3| % 15,600
HEFE (B EHODREH KRR | BERULBER [MLYM—/—DFEA 2| % 10,400
HEFE (B EEDREHHREEM | BERLBER [MLYMM—/—DEA 3| % 15,600
HEFE (B EHOREH KRR | BERULBER [MLYM—/—DFEA 2| % 10,400
HEFE E5SAEEE BEEEUEER (FMLYMR—/I—DEA 3| % 16,236
N (B EEDREHEXREER | BERUBEM (MLYM—/I—DEA 2| % 4,320
PRE /N (REHODREHLRIEEF | BERUBEM |MLYM—/—08EA 8| % 38,400
ME/D (#8) MR hRiE [EERULBER |V)—=2T 1| =® 3,080
i £:cl (B EEDREEHEEERN | BERUFEMN (MLYM—IR—DEA N r—R 28,560
i3l (B MAYhRE EERUEEMN (h—T>-IvbLR-BHY)—=T 5 6,270
TN (REHODREHLRIEEF | BERUBEM |MLYM—/—08EA 3| f&@ 12,960
ST (R EEDRESHRFERFT | BERUFEM |MMLyrR—/X— 14| % 60,480
INSFERE/N (B EEDREEXFEEERN | BERUBEFN (MLYM—IR—DEA 10| # 42,000
INERG/N (#8) MR hRiE [EERULBER |V)—=2T 2| = 70,180
INEEBUI (B EEDREHAREERN | BERILBER [MLYMM—/—DEA 3| % 12,960
INERN (#8) MR hRiE BERIUFER (Hh—To0)—=Y 1l =® 43,450
INEBRN (CNVESTN ¢ BERILEEFR (MEYY—=2T 1 = 6,050
%I Fch (B EHODREH KRR | BERULBER [MLYM—/—DFEA 3| & 12,240
)T (REHODREHHLREER | BERUBEM |MLYM—/—08EA 4 17,280
)1 Fch (B EHODREHLRFERN | BERULBER [MLYM—/—DFEA 4 %= 17,280
)T (REHODREHLRIEEF | BERUBEM |MLYM—/—0EA 3| % 12,960
)1 Fch (B EHODREH KRR | BERULBER [MLYM—/—DFEA 2| % 8,640
BB (B EEDREEXEEERN | BERUBEFN (MLYM—NR—DEA 13| % 56,160

At 1,871,627




